	Week 
Sixth Grade Math For Today
Name:  ______________________

	NO.3.6.1
Computational Fluency
	G.9.6.1
Symmetry
	M.13.6.3a
Draw/Measure to Nearest mm
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	Anna wants to buy packs of gum for her class.  Each pack costs $0.25. She has $5.50. Not including tax, how many packs of gum can she buy?
	[image: image1.emf]
Which lines are lines of symmetry of the triangle shown above?
	[image: image2.emf]
What is the measurement shown by the arrow on the ruler above?
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	Vicky’s family planted a Japanese maple tree in their yard the day she was born. The tree has grown about 7 inches each year. If the tree has

grown 3.5 feet, how old is Vicky?
	Which figure has no lines of symmetry?

A. [image: image3.emf]           B.[image: image4.emf]
C. [image: image5.emf]       D. [image: image6.emf]

	[image: image7.emf]
An optometrist will choose appropriate glasses frames for a child based on the size of the eye.

What is the length of the eye shown above?  Measure to the nearest mm.
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	Will and three of his friends drive in one car to Little Rock for a concert. The tickets for the

concert are $45 each and the parking cost is $12. If each person pays the same amount for

parking and admission, how much does each person pay?
	Which shape below has rotational symmetry?
A. [image: image8.emf]    B. [image: image9.emf]
C.  [image: image10.emf]      D. [image: image11.emf]

	[image: image12.emf]
What is the length, to the nearest millimeter, of the insect above?
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	The football team has 6 new players. A uniform costs $75, and a helmet costs $80. What will it cost to buy new uniforms and helmets for the new players?
	[image: image13.png]



What is the length of the rectangle shown above 
in centimeters? ______________         
In millimeters? ______________


     Open-Response / NO.3.6.1

MATH OPEN-RESPONSE ITEM A

A. Two students were each assigned an expression. The work each student did to find a value for her

     expression is shown.
	[image: image14.emf]

	
One student’s work shows the correct value for her expression, while the other student’s work shows an incorrect value for her expression.

1. Which student’s work shows an incorrect value for her expression? Explain the reason for  

your answer.

2. For the student’s work that shows an incorrect value for her expression, explain any  

mistakes that were made and find the correct value. Be sure to show your work or explain how you got your answer.

BE SURE TO LABEL YOUR RESPONSES 1 AND 2.


